



StudentName: _____

ExamDate: _____ ExamScore: _____

$$(2,6 - 5,3) \times 2 + 2 =$$

$$3,3 - 2(2,6 - 5) =$$

$$2,4 + 5(2,3 + 4,8) =$$

$$\frac{2}{5} + 4(4 + 4,2) =$$

$$\frac{1}{2} \times 9 \div 3 + 4\left(\frac{2}{3} - \frac{3}{4}\right) =$$

$$8\left(\frac{1}{2} + 5,2\right) \div 4 \times 4 + \frac{3}{2} =$$

$$3,8 - 4\left(\frac{1}{5} - 5,8\right) =$$

$$4,3 \times 20 \div 4 - 2\left(\frac{1}{2} + \frac{1}{3}\right) =$$

$$\left(\frac{1}{5} + \frac{1}{3}\right) \times 2 + 3,1 =$$

$$2,1 \times 20 \div 4 + 5\left(\frac{3}{5} - 4,3\right) =$$



StudentName: _____

ExamDate: _____ ExamScore: _____

$$(2,6 - 5,3) \times 2 + 2 = \left(-\frac{17}{5}\right) = \left(-3\frac{2}{5}\right)$$

$$3,3 - 2(2,6 - 5) = \frac{81}{10} = 8\frac{1}{10}$$

$$2,4 + 5(2,3 + 4,8) = \frac{379}{10} = 37\frac{9}{10}$$

$$\frac{2}{5} + 4(4 + 4,2) = \frac{166}{5} = 33\frac{1}{5}$$

$$\frac{1}{2} \times 9 \div 3 + 4\left(\frac{2}{3} - \frac{3}{4}\right) = \frac{7}{6} = 1\frac{1}{6}$$

$$8\left(\frac{1}{2} + 5,2\right) \div 4 \times 4 + \frac{3}{2} = \frac{471}{10} = 47\frac{1}{10}$$

$$3,8 - 4\left(\frac{1}{5} - 5,8\right) = \frac{131}{5} = 26\frac{1}{5}$$

$$4,3 \times 20 \div 4 - 2\left(\frac{1}{2} + \frac{1}{3}\right) = \frac{119}{6} = 19\frac{5}{6}$$

$$\left(\frac{1}{5} + \frac{1}{3}\right) \times 2 + 3,1 = \frac{25}{6} = 4\frac{1}{6}$$

$$2,1 \times 20 \div 4 + 5\left(\frac{3}{5} - 4,3\right) = (-8)$$